0 -330vDC 0 - 330vDG
~240VAC ~240VAG
Vout = Vin x R5 7 (R4 + R5)
(R5 x Vin) / Vout = R4 + R5
#5vDC $5vDG R4 = (R5 x Vin) / Vout — R5
FS1 For up to 340vDC R4a
R2 R4 = (1k x 340) /5 — 1k
+ R4 = (1 000 x 340) /5 -1 000
P=V e 7 R4 = 67 000 = 68k
3A P=24 — cut L 100k
P=24 PDO (RxD) | 2 4 10k Using 100k + 1k5 for R4
P=8. ATmega328 PD1 (TxD) %. Vout = Vin x R5/ (R4 + R5)
CONN1 21 | AREF PD2 (INTO) Vout/ Vin = R5/ (R4 + R5) c2
b I=V/ v20 | pyog PP3(0C2BINTH) LS Vin = Vout x (R4 + R5) / R5 i
| =24 PD4 (XGK/TO) | 6 4 Vin = 5 x (100k+1k5 + 1k) / 1k —
=24 «23 | (ADCO) PCO PD5 (OCOB) | 11, Vin = 512.5v r—
S I 1=0.0 »24 | (ADC1) PC1 PD6 (OCOA) | 12, or ~0.5v per increment
| =35 25 | (ADC2) PC2 PD7 (AIN1) | 13,
N «28 | (ADC3) PC3
=27 | (ADC4/SDA) PC4 a
240vAC «28 | (ADCS5/SCL) PC5 |Rab
PBO (ICP1) | 14,
PB1 (OC1A) | 15,
PB2 (SS/0G1B) | 16, L
PB3 (MOSI/OC2A) | 17, Ui MOC3022M 1k5
PB4 (MISO) | 18, 6
= | (RESET) PC6 PBS5 (SCK) | 19,
PB6 (XTAL1/0SC1) | 9 4 N R5
8 PB7 (XTAL2/TOSC2) | 10, .
=180 anp ISO1 == . }
b2
Tk
GND GNDQ
~240VAC ~240VAG
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